0515 ¢ wFiug weOyOIRS gangol
qugu@lofy cplifqoiep c.,dm m

) og+fe
S egbutog

L0+
' BoglEpeg

®3-2, b=29.0

=27.0

£5+0 Py

€ fugafisg

@i, Ir

FI'6T

0067

Skl
oro

mo

60°0

@e_

90'6T

52

3

445

3.00
=
-
=
s

R-200
K-10.4,
=
G

o

448

1l'LT

138

900
SO0

9067
roet

R-400
kd148
=

SO0

500

9426

099

908T

TFLT

L9'LT

124

00°LT

ST LTSV LT —

T|IE'9T

71009T

7| 9F'9C

224
]
"
o
Lt}

T90°LT

SEBL]

OU8TT—

0067

SF8T—

008T—

TELT| =
0SLT |

00°LT

96'8T &

]
2 |23
€ |E|E|s
e
= |3|E|R
&

g
%

-

2
g
g s @
® | B £

Dﬂ4
52 |2
27 & T
g0 |5
&
$ilse
SR B

=
-
HoE | =
=TE TE TE
9| € | % |E
€12 B2
2| E|E |3
-]
2 :
2
z
E
i
E
Elz |z |2
Blsg/ s |E
Ecd |§
= gz
Z|E%|E | B

2

1:2000

3.0.

1:200

30.

JobMb0 %

FOMIL0 GOFLIE0

2050

b0

BH30 6OAEIR0
8

A03DBIB0

oeBgliegup
wQPCwyeen

uglglheg
| olugufetl |

&




B

5 .
e 4l
£l £
§ b HES
= = = = = = o o = [~ =
3|2 b = & 2 | =] 5 e
S| ° S s 3 ERE =f=
2 e
28
27
26
25
34, 1:2000
39, 1200
&8 356000 % 0.00 L19 0.00
B 056002000 168 90 150
o — = Bl = = = = E 55 s 5% 55
gl 2 7 oa & a8 4 a8 4 8% 24
=] [=] =] =y =) =] P - [ =] [=T=]
¢ =} =1 S =} =3 9 e S S 9 22
B B30 6096320 || 3 a8 I o S & 48 L]
2B aseaneza0 48 I EERER E) D D 10
27
BE | 3040m080

B

=S

[

Fooe

3L FANRABIhS Ry DAL R0

Jlsdgaigmosdo yodpebsmels Juboli

Seael ARG 90808005300

aa6rIE 928022050

EHEAGY L0010 afhdogn dOmgogo LR
5N W 3G

BT b assaagam=z 3 M52 iy 8O0 —




31
kL .
30 | 3 g W o =
00 | = s S = 2
28
27
26
25
4.4, 1:22000
38, 1200 1519 i
ES[T—da600 %
2
?’% Fa6I0L2IB0 e
€ 2 = b 4 =y [ =) = =
758 | RO00O 60920 |2 e = . = o 2
N = D ql g2 o &
=1 wy ol = o =
S| W80 BOBEIRO |3 [ 15 A 2
£% : g8 5 5 5 R 8 =
&
2B sskaoszoz0 40 ‘ 20| % ‘ zo‘ P | @
23 — | |
5| a0s0m0e0 9 10 i
‘ 1 L L L

3L FAIRABMIDS R DdLasH0

Jlsdgaigmosdo yodpsbsmels Juboli

Senage i ARG G odo@afsne

800 Jadogofeg

EHEAGY L0010 afhdogn dMmgogo L
a0 37

F0HANFS la aass00800=0 34 8+60 -3 11+00 L




	grzivi gorgasali
	grzivi gorgasali - копия
	grzivi gorgasali - копия (2)

